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N.B. .— () Attempt All questions.

(iz) All questions carry equal marks.

(i1zt) Negative marking for wrong answers for multiple choice
questions.

() wd WA e
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MCQ)
1. Attempt the following multiple choice questions : 10
CHG dguaEl WEd dredl
@) Production function is expressed as ..........cccuuueee. .
A) P=1(,bd,cd
B) P=Ff(,bdc d
(C) P=F(a,b,cd....... n)

(D) P =F (a and b)

3CUEH Thod JEle YHTOl SEiferdrd
(A P =1(a,b,c d)

B P=F(@,bd,c d

C) P=F(,b,c,d......... n)
D)y P
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......................... is the feature of monopolistic competition.

(A) Product differentiation (B)  Price discrimination
(C) One seller (D)  One buyer
...................... % -q(-}ﬁa-lﬂ% wa‘% aﬁ-l-@ 311%-

(A) =TI (B)  HANR

(C) THh forshar (D) TH UEh

Money cost includes ............ccceennnne... .

(A) Direct cost (B)  Indirect cost

(C) Direct and indirect cost (D)  None of these
Hifseh TEd AN THEET B

(A  TIH T (B)  AYEY T
(C) vy oMo sty e (D) @R AR

In the perfect competition marginal revenue curve and average revenue

CUTVE IS wevvvrvrvrreeeeeeeeen. .

(A)  Upward side (B) = Downward side

(C)  Horizontal to Y’ axis (D)  Horizontal to X’ axis
ot Tuif fodia SO 9% 9 TR SO g T
(A) e (B)  ENTH

(C) ‘T’ ™ FHEIMR (D) ‘&' F&H FARK
What are the types of market on the basis of time ?

(A) Very short-run (B)  short-run

(C) ~ Long-run (D) All of these

FIGTHR ASRUSET hIUAT YR 3R ?

(A)  FAqTIRSH (B) SRS

(C)  fesiepme (D) A Hel

Which market price discrimination is possible ?

(A) ~ Monopoly (B)  Perfect competition
(C)  Both (A) and (B) (D) None of these

Rl ASRUSA Hed¥Wg hedl Sl ?

(A)  HHGR (B) ol Tl

(C) (A) e (B) <t (D) At
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(vit)  Collective bargaining is related with ..................... ;

(A) Rent (B)  Wage
(C) Profit (D)  Interest
AR WIGRTRIT &1 I HeHid TR
A e B) =Y
(C) %1 (D) ==
(viit) Interest as the reward of ................... .
(A) Land (B)  Labour
(C)  Organization (D)  Capital
m ET ...................... a-l- -l:hm 311%:
(A) oyt (B) 5™
(C) H&HA (D) wieTS
(ix)  The book “Risk, Uncertainty and profit” is written by :
(A) Knight (B)  Marshall
(C)  Keynes (D)  Schumpeter
Hﬁw) mﬁ 3#'-0@- Wn g—l- 'lj?,]‘ ...................... -q-i:ﬁ- W.
A)  EE (B) Wmie
(C) @ (D) A
(x) The factor pricing is equal to .....cceeeeennnnnnnn. .
(A)  Marginal productivity (B) Average productivity
(C)  Total productivity (D) Optimum productivity
31 ,qdehi_ql "hqq®| ...................... W m.
(A) Toua S (B) IUEd Scargehdl
(C) TR cdEehdl (D) Y ScaEshdal
(Theory)
State the characteristics of monopolistic competition. 10

TRQRIZER Te= dfiTs=l |
Or
(fenam)
Explain the short-run period equilibrium of a firm and industry in the perfect
competition.

7o) WEle SUFERA 9 JEMY STeUher o T &
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3. Criticise the Recardian theory of rent. 10

Repreen e fagae fewmas wierm &a.
Or

(fenam)

Explain the liquidity preference theory of interest.
4. Write short notes on (any fwo) : 10

@) Average and marginal income
@i1) Law of returns to scale
(ziz)  Opportunity cost of production

(tv)  The law of variable production
e fewr fegr (FoaEr gq)

G) Oy e fgHa 3=

@)  HT e EH

(i) Shfeush IcART @

(v) g FAOTE EH.
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